Algebra and the Number Plane (1c)

1) If a=2, b=4 and
c=7 find

a) a+b+c

b) 52 +2
C) Ec + a
d) gc -b
e) ;bz
f) :2 b

2) Plot the points A(4 , 4)

B(-1,-2) and C(0, -3)

3) Simplify
a) 3a + 4a =
b) 8y-y-=

C) 4a + 2b + 5a + 7b

d) 6k + 9h + 2k

e) 5f + f + 3f +9g

f) 4p + 39 + p + @

g 7m? +5m+ m?-m

h) 2p + 8m - p + 3m

i) Oxy + 49 + 6xy - @

4) Simplify

a) gxgxgxgxgxg=
b) 5xkxkxk =

C) cxCxCxaxax9=

d 2xyxyx4dxy=

)
) hxhxhxhxh xh=

e

1) pxpx5xkxkxp

g 4xtxtx2xtxb5xt

Parent’s signature and comment

5) Simplify
a) yOxy? =

b) adxa’ =

6

c) P°x p =

d)  3y2x 2y’ =

e) 5k9x 3k =

f) 6a’ x a* =

6) Expand

a) 6(y - 3) =

b) 7(2a +3) =

c) 3y -7) =

d 3y + 7a)=

e) 42 - 3g) =

fy 5th + 11) =

7) Solve

a) a+ 12 =20
a =

b) b-4=12
b =

C) 7c = 21
C =

d) d+5=26
d =

e) 3e - 5=10
e =

f) 4 + 1 =25
f =

9) 59 - 7 = 48
g =



